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1. Jeremy emptied his piggy bank which was full of only/quarters/and
dimes} He realized that he hadwhic [totaled($2.65 How
many dimes did he have?
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2. The function f(x) = 37x + 20 models theftotal cos{ for Rachel to

be a member at a gym for{x months{ What can be interpreted from
the y-intercept of the function?

There is $20 Tea
3. Evaluate f(-8) when f(x) = x? — 6x + 12
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Power to Power Quizizz




Dividing
Monomials

To divide monomials, use the
QUOTIENT RULE
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CAMPLES

Directions: Find each quotient.
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» Examples with Coefficients:
e DIVIDE the coefficients.
e SIMPLIFY the variables with the quotient rule.
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Directions: Simplify each expression completely.
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